BF 100m REF(32%0)

[1#2] (  +1.7 m)
1[0 3]3728 )1 AAE K BEA 4 (BRH K% 5%E) 10. 75
20 5137154 5t Hm st 4 (BEHKF-5E) 11,03
3[ 2] 873/ k. #4733 (E(EAE-H5F) 11.05
40 4] A~ RKER 3 (9] 82 & i) 11.08
5[ 8]5786<F 1%  FE1 (BWARFHH 1.1
6[ 61448975 # K2 (%% H &) 11.37
[ 1J3730/n 4k — p% 4 (BRBRT-5E) Ri5H
[ 71529446 #8714 B RZ - §i) 35
[3#8) (  +1.6 m)
10 137701 A — 22 2 (BHaRF - HhH)11.13
20 312659%7 . e 2 (B & w8 &) 11,31
3[ 6]3200= A& &=} (Fr W Ik &)11.38
A4[ 4118064F #  BE3 (= N & H)11.51
5[ 5152893 i =t 2 O #h K 5)11.52
6[ 2377255 %% W5 A 2 (BRWARE-5%)11. 67
T0 713882 ik =41 (5 U A B E)11.69
[ 8] 2099 = O EHE (Palette- H) iz

[5%H] ( +2.3 m)
1[ 4]13756T 2 FH B3 (BiakF &8 11. 21
20 6] 7907 & K2 (& W =)11.44
30 72656y B  fH1 Ok 7= "8 &) 11.55
41 812989 =48 K BH 2 (SCH K- £)11.55
5[ 3] 783K M % —1 (& [ =)11.58
6[ 114009/ M &3 (B2 K%)11.64
70 2152860 H 2 & #h K 5)11.85
[ 5]356288 [ $H 32 (B £ M ) R

(78] ¢ +1.1  m)

10 61566111 11 fF 8 1 (llnia&E-5E)11. 33
2[ 5]15514%k~ iR #iv 1 OREFs - 55 %) 11. 69
3L 7155185 W] M =} 2 CGRE¥F - H5E)11. 61
41 3]12707va #f H- &3 (L K - It J#i) 11. 66
5[ 8] T8I RT®zIT1 (B [ @&)11.67
61 2152871+ Jal FEF- 2 (Ml K% T3)11. 82
70 4] 40522 lf $hifE2 (Bk & )11.90
8[ 17306811 1 B R (B & b2 #)12.12

(9%8)] (  +1.0 m)
10212992%% 4 B 2 CCEOR-#iR) 11,70
20 6]3304%k 11 BE2 CafifFld ) 11,73
3L 4] 782w #l AL (B M 5)11.84
40 7] 801& I #4h 1 (2 [ &)11.90
5[ 3]448T/Mg i rF2 Gk R /&)12.06
6 51190418 & 7% 2 (R B i) 12. 26
[ 1]12885%% jk i —2 O #h 5 =) Rif
[ 8] 569% %y 3 U W W L) Rif

[248] ( +2.0 m)

10 6]1375%5 i Fe2 (%R E)10.94

2[ 4157594 & KB 1 BEWAKYE-#H)11.00

3[ 7125084 H & F 4 (ERKF-HE)11.19

4 5126624 H HEsL2 (k7 1 &) 11.20

50 11388174 5& #F A1 (5 U &8 ) 11.45
[ 2130311 H &k Jr  CHERER-HE) Ri5
[ 3113887 32 i —  (EVOLUTION Track Club) SR 355
[ 811786 & =# B8 (VOLVER-#E) Ri5

(4%8] (.  +1.4 m)

10512661 K4 # A1 Gk 7 1 =)11.19
2[ 41387277 # 1 (LU AHEE)11.34
3[ 613886k P 1w HE 2 (5 U 2 HF ) 11. 41
4[ 3]56593& v Ey Ak 1 (IIA#AERE-WE) 11,49
5[ 112660/~ & 2 e F 1 =) 11.57
60 8167875 MR K1 (BRaXF HE)11.63
70 2]12995% 11 2 CCER-HE) 11,67
8[ 7J5T54%E 7k HE N 1 (BRINARZE-HAE) 11,75

[6%H] ( +1.0 m)

1[ 512881 K F 2 (M W & £)11.51
20 41387585 K FHEE1 (5 U AP E)11.69
3[ 6]3897H BF 5L A 2 (5 U A BFE) 11,69
41 3] 657m b & — (B mikER)11.72
50 1] 210 1 A (Paletter HUn() 11. 81
61 8] 208%Zz & FE N (Palette- H i) 11. 91
70 2133078k #F B yR 2 ChfFAS -5 11. 92
8[ 7]38TMK Y N19r2 (5 LCAHE)12.20

(8] (  +1.3 m)
1[ 3] 568k %5  [=3 (& W # £)11.82
20 7] 794y smok2 (B B &) 11.90
3[ 2J3186)I1 &5 K (Fr R dE i) 12.01
40 1] 1523 W JE % 2 (B0 ) 12,07
5[ 411030% B 4 sk 2 (ik &) 12.19
60 8140175 & M2 (B=2fe K% 13.34
[ 515537 (L H KRR 2 CGREFm - 5 1) Ri5
[ 6156334 %  #E2 (R¥fm-# L) Rif

(1048] (  +1.2 m)
1[0 2126657 ik M 2 1 Gk 7 79 /=)11.96
2[ 5] NM3=#F HEA 2 (FrRVNFHET) 11,96
3[ 6138999 & wEME2 (5 U A1 @) 12. 21
41 4114387 W K31 Ul fEZR H)12. 34
5[ 1]1205# 48 s A 2 CBr B — t1)12. 47
6[ 3] 5697k B &p R 1 (RA(RE ) 12.69
[ 719513 FH A #E 1 GR¥fm - B £) Ri5
[ 8]5518 M ui s Air h 1 CGREF = - 5 1) R



[1148]) ( +1.7 m)

10 511026/)s %k ZHE 2 (R
2[ 3] 807t KB 1 (B [ 5)11.96
3[ 6] 805 H et 1 (B [ &)12.04
41 4] 205fB 42 F 22 G B2 — f1)12.05
507] 251 F % 2 (REEEH —)12.09
60 1] 201N /5722 KBA 2 CARERA-%%) 12. 14
70 8] 795% M o (B M &)12.15
8[ 2]44867k H J& &2 (5 W &)12.25

(13#8) (  +1.6 m)
1[0 715531 Il CRF K 2 CREFE-#£)12.01
2[ 6] 8048 5% P A1 (B [ )12.04
3L 1J138 H EEL B W &)12.09
41 3131824 )11 KBk (Fr R Ak =) 12.14
5[ 4] b34mTH H M2 (FLEBES)12.32
6[ 2] 3155 = 62 (ely mH-5%)12. 67
[ 5]15534Ff A B H 2 CGRE & -8 F) RiF
[ 815536 111 P4 2 (GREF & - E) Ri5
(15%8] ( +2.3 m)
1[ 6]56607# & & =} 1 (Il0kas-5E)12. 31
20 7] 313k F L1 Cor . = H)12.67
3[ 2] b66NE # &3 O W ¥ £)12.76
A[ 511403k & B G X2 7 7)13.23
5[ 3] 428/ #F A ¥E 1 Cor JH W H#)13.25
[ 411224 J& St 2 G 2 — W) Ri5
[ 8] 2144 H K2 (R F) Ri5

=) 11.90

[1748] (.  +1.1 m)

1011289145 H Ak 1 (B ) & £)12.17

2[ 4] 7068k A& 2=k 2 (AR m 1) 12,57

3[ 2] 70711 & A2 (AR mIJEF)12.80

47 7] 3681 A wE A1 (B BB = )12.92

50 8] 403N H  {f2 Cor E U H1)13.20

6 5] 305k M AR 2 CoF B = F1)13.21
[ 3]28964% H — M 1 U 1 B £) Ri5H
[ 6] 79 A KA1 WMRE )RS

[1948]) ( +1.0 m)

1[ 714016/~ 8 B2 th 2 (B2 2% [ K)11.30

20 5] 376 1 A iE1 G & = 1)12.69
3L 6] 7330 A 5 K1 (AR A 1) 12,77

A1 3] M3Y A BEF 1 GBr K P9 H1)12.93
50 2112341 [ —¥& 1 C&r &2 — 1) 13.06
6[ 8] 1423 A &2 CGFr JEE  H1)13.33
T 1] 16050 & = j& 1 (GEhn)I#n ) 13. 80
8[ 4] 202y M ¥k &= 2 (AMERT #%)14.05

[1248) (  +2.0 m)

1[ 112883472 0 WA b 2 (B 1t B E)12.
2[ 714483 RE BEH 2 Gk K &) 12
[ 411744% ik 4 1 GREKRPR-5E) 12,
A1 511895 K 4 IEF E&E7 7 7)12.
5[ 2]12120 M Fofsf 2 Cor & — o) 12,
6 3]12174%= i FE -2 CG&F . — )12,
70 8] 265T % i k2 (BHEH —H)12.
8 6] 4024 pa & 8t 2 Cor )& U )12

(14%8] ( +1.4 m)

10 1] 626/N)11 H ) 2 CArAE N - B £) 12,
2[ 5]31818 H K (7 R b &) 12
3L 2] 1S/l & i 2 (FrifvhF:4E 1) 12.
AL 7] 788 o 2 (B [ )12
50 6] 409R 4 2 Cfr & 4 9912,
60 3] 398 ik T2 (F] B2 = )12
T0 4195193 K K # 2 CREF -5 ) 12.
8[ 8]9512= F Mt K1 CREF&-H )12

[16%H]) ( +1.0 m)
1[ 6] 560/ #/+ Ak 1 (&L RBET) 12,
2[ 1] 627« K& R 2 GRS - E)12.
3[ 5] 207%F 00 1 ¥ 2 CARIERT-HE) 12,
A[ 7] B567TH B  ¥W3 O& W & £)13.
5[0 3] 276fa | fEik2 BHEESE )13,
6 815511H1 (i =k {& 1 CREF & -85 %) 13,
10 4J4TMMTRIBE SR E 1 CKRETH) 13,

[ 2] 370H H Fio 54

[1848] (  +1.3 m)
1[0 5] 715 A B2 (AR mEF)12.
2[ 1] 5051 # 2 GBF R oH) 12,
3[ 3] 37488  HE 3} 1 (B 8= = H)12,
AL 7] 5214 fE W52 (FLABMT)12,
5[ 4112264k 2 (G B )13
6 6] 5138wk 412 (FEAKMEH)13.
T[ 2] 22312 K0 2 CGor e — d)13.
[ 8] 716/

[2048]) ( +1.2 m)
10 71402007 &% cH: ik 2 (BE 22 B oK) 11,
2[ 6133141 ik I B 1 CRfdFRES-H) 12.
3[ 1] 212E /6 & K1 CRIF 2 4) 13.
41 3] 3003 R E2 GBr E = H)13.
50 5] 411Gtk K& 2 CGor B U )13
6 8] 107¢&WE &+ 1 (FrR/NFHEH) 13,
T[ 4] 34537 i 1% K1 (fly E-5£) 13,
[ 2] 357 i

08
19
21
29
32
34
42
46

10
16
21
317
39
48
80
88

49
99
87
01
02
06
24

(TAVT 4 ) 2) RI5

53
66
69
86
02
43
88

fir B2 CA T i ) R

56
96
21
28
30
38
57

Kole (@ & = HRG



[21#8]) ( +1.2 m)
10 1133158 sk —BR 1 (sl R0 12. 71
20 2] 238+ & #hitE 1 CARJBER -5 £)13. 15
3[ 6] 3421 A I&E 1 (Fliy Kf-5%)13. 34
41 3] 236% W A48 1 OARIERRT -5 %) 13. 55
508] 1328n Kk BHWI1 Cor JE H1)13.58
60 5] 561 M ER1 (O B & 1)13.80
T0 4] 1615 W e Bk 1 GBI H)13.97
[ 715510 L &2 75 P& 2 GREF & - B E) Ri5
(23#8] (  +0.8 m)
104] 129% #2 w2 (FiRhFH1)12.90
20 3] M07E 4G Be=F 2 Cor M DU $)13.29
3L 8] 254p Ry =F 1 (WIE % — 1) 13.33
41 6] 3060 A HU#H 1 Cor & = 1) 13.59
5[ 1] 429)11 4 B& 1 Cdr JFE DU H1)13.76
60 2] 557HA M KA1 OB B & £)13.94
TL 71 1308 0 = 55 1 Gfr - ) 14.46
8[ 5] 230%T i zu Ik 1 CAMEERT-5E)14.76

[2548] ( +1.8 m)

104) 721 B BEA 1 CANRE A R H) 13. 45
2[ 2] MY/ B 473K 2 (FrUNFHH) 13,50
3[ 8] 863G E FumE 1 CK H H H)13.88
41 5] 2063 H B A1 GBr K — H1)13.97
50 6] 3794 #E -4 1 (B & = 1)13.98
6[ 311228/ #  E 1 CGHr JE — H1)13.99
107 24y —R1GE K H)14.31

(27#8) ( +1.5 m)
10 3] A14B9AR (& 2 Cor 2 Y 1) 13. 88
20 4J4710% M 221 ORRET-5) 14,07
3[ 51470940 £ Z2 1 CRRAET-HK) 14. 21
40 6] 183 L5t B 1 (AR LEERT)14.58
5L 71 21z 3 wih 1 (GEH 1) 14. 68
60 8] 560t #F zm K1 (M # B £)14.69
T0 11 1045738 4 755 Cir JFE [ 1) 14. 86
[ 2] 188f& ~ AiEFHE 1 (AR LBEERT) Ri5

[29%8] ¢ +1.0 m)
10 1] 60179 1 47 1 CHEAS-RiE) 14. 56
20 6] 219)11 30 — FH 1 CREL 524 14,75
3[ 4] 432%5 M AE 1 Gy FE U 1) 14.77
40 7] 862 7k mEIK1 OK JH W ) 14.94
53] 424+ 4 L1 CGor 9 #)15.14
60 5] 233 A& .0 1 CAREERT-5E) 16. 22
[ 2] 293L )5 &% K1 (FIERH ) Ri5
[ 8] 2215 A #lak 2 (RIS P 2 ) Ri5

[2248) (  +0.9 m)
1071 M3 B4 2 CAR AR ) 13. 00
20 3] 503 & 222 GFr & 1 H1)13.04
308] 26/& &1 1 GE K H1)13.20
41 5] 6024 T C#k 1 CHTEEAS-H5£)13.39
50 1] 33285 &K EX.0 1 (Bellir £9-%F) 13, 44
6 6] 15190 ==k 2 (FE )4 H)13. 58
70 4] 2427k 5 K& 1 AR+ % %) 14.05
[ 2] 568%5 A X1 (MK ) Rig
[24%8) (  +1.1 m)
10 4] 1694 IRF B =F 2 CAf BREIRH) 13. 69
2[ 3] 567/N)I1 i1 (& - RBsET)13.70
3[ 1] B51F A Fas 1 (BEHAMET)13.70
41 7] 19585 K 4H & 1 G H) 14,00
5[02]2894 1 2 1 O W & £)14.04
6 6] 19654 Mt 1 (FnJIANH)14.25
70 5112188 W & M2 Cor B — #1)14.52
[ 8] 36= & Hi#k (VOLVER-HE) RH

[26%H]) ( +0.8 m)
10 2] 721 = A BB 1 (AR MR H)13. 44
20 7] 3734 )il #1 (B & = #)13.74
3[ 3] 5654 H &3 O W B £)13.76
41 8] 8657k 1E K1 Ok JF 8 H)13.77
5[0 5] b704% & A 1 (& LR BMEH) 14,05
6 4] 294/)NH [f) EiE 1 (éﬁ@%%*%m 08
10 6] 37Tl A Fe N1 (B 88 = H1)14.27
[ 1] 427 W K221 G & o) Rig
[28%4H]) ( +0.6 m)
1[ 374008315 H K& 3 (BEEpg K52 11.04
2[ 8] 25 EHE2 (& 1) 14. 48
3[ 4] M85 ZF K1 CG¥r & U ) 14.50
40 2] 558 A FH &1 O 1 £ £)14.65
5[0 1] 55547 i Fafst 1 Oy 1 55 £)14.99
6 6]1229% M ¥ 1 G B — #1)15.16
T0 7] 23245 #h w4 1 (ANHBERT-5%%)15. 77
[ 5] 20107322 KER 1 ORI 52 87) KI5

[30#2) (  +1.0 m)

1[ 5] 728 E W R 1 (AR MR ) 14. 56
20 6] 22845 k7 & EH 1 (AR F42) 14. 90
3L 7] 12fEx kf& K2 (E A  H)15.00
40 2] 237/ F K1 OARER$-5E)15. 14
5[ 8] 22915 [ #h & 1 CAHB A 52 4%) 15. 36
6[ 4] 2558 7k HG1 (FIEEH —~H)15.63
70 3] 419%% N & A7 1 CGFr & DU ) 16. 06
8[ 1] 1HYP F7#5 TAVT4720)16.20



[3148] (  +1.2 m) [3248] (  +1.2 m)

106] 20+ HFA1GE K H)14.95 1[0 6] 196v& 44 & =F 1 (AR ERRH)15.77

20 4] 41544 &1 Gor 8 U H)15.13 20 7] 3NE I &1 & 8 = #H)15.98

3[ 7] 1255 A& 1 CGor & ) 15. 21 3[ 2] 7263 B FH 22 1 (AR A ) 16. 32

A0 2] 72511 £ ffiws 1 O R ) 15, 23 A0 8] 23k w1 GE A H)16.49

50 1] 204F | FnfH1 Cor B — +#)16.02 504] 218 #Eth1 GE A H)17.02

6[ 5] 4254 Wy 1 CEr EE PO 1) 16.20 6[ 5] 42640 )5 W1 Cor & U H)17.15

70 8] 243/NBF {2 1 (AFERF-5%) 16. 71 10 3] 202FFH# RES 1 G 2 — H#)17.20
[ 3] 184 &% & K1 (AMEERY) R

0N AN

[ LRy |

1 3728 JIIAAR KB 4 (BRART-5%)10.75 +1.7

2 1375 %5 ik B2 (BEEE~2E=)10.94 +2.0

357594 A& KB 1 (BH A% i) 11.00 +2.0

4 3715 A JR i 4 (BHaRFE5E)11.03 +1.7

5 4008 i H K& 3 (BEZEFE RS 11.04 +0.6

6 873/hARk B3 (HEMEHE-HrE)11.05 +1.7

T 1A RKAS3 (] B2 & ) 11.08 +1.7

8 5786 < ¥ R 1 GHUAKE-FRI 11 +1.7

BF 200m £ (040)

[1£8] ( +0.4 m) [248] ( +0.5 m)

1[ 51448978  # K2 (G H  5)23.04 10113193 | ek (7 R Ak /) 23.25

2[ 34781 K I KA 2 (RESHERE =H) 23. 11 20 6] 791/ K2 (B M 5)23.38
[ 111388930 {8 —  (EVOLUTION Track Club) IR 355 30 2] M2 k2 (IBTEE %E)23. 65
[ 2]2995% U ffF2 CLHEK-HE)RE 40 5] 792979 MR 2 (B M =)23.72
[ 413603/~ & AN 3 (& H &8I &) Rix 5[ 3]2655%2 IR e 2 (K 7 ¥ 15)23. 86
[ 6132994 H f&F F £ [ W) RH 6[ 8] 2104 M FIF (Palette-HX)24. 67
[ 71137575 f%  BE2 (BRLEE) Ris 10 7] 8288n A [EJE 2 GRABTHK)24. 69
[ 811786/ & = #B8  (VOLVER-#%) Ri5 [ 4] TBIK T2 1 (B WM & X5

[3%8] ( +0.5 m) [448] ( +0.8 m)

1[ 815514/ R & v 1 CREF - #r F) 23. 52 10 2] 2055 & 5 & 2 Cfr B — H)24.37

2[ 3] 783K H % —1 (& [ 5)23.55 20 6] 807 aL REA 1 (B [ &)24.60

3[ 6] 8091 ™ MR A1 (B [ H)23.86 3L 348/l 2 Gk | 5)24.84

A1 711026/ K EAE 2 (g ) 24.18 40 11121200 W Fofst 2 Gor B2 — 91)25.03

5[ 5] 782 & A1 (& M =)24.19 [ 41140312 & @ (BKZ 7 7)Ri5

6[ 1] 359/ Sk Hi2 (R &8 = 1)24.48 [ 5] 251 % Ey 2 (FIEEH )R

T 21203307 #F  BE R 2 (ChA#FmEH- ) 25. 01 [ 7155185 [ & =} 2 CREF & -85 E) Ri5

8[ 412171 i HE 2 Cor B2 — 1)25.20 [ 815536/ (LI Fie 4 2 CGREF & - E) Ri5

[6#8) (  +1.0 m) [6#8) ( +0.4 m)

1[ 815531z JII RF K 2 CGREF& - E)24. 53 10 8] 8044 2 A1 (B [ )24.82

2[ 2] 626/)\)I1 H [\ 2 GorJEsR -5 %) 24. 85 20 7] 788/ 2 (B [ 5)25.40

3[ 7] M3=#F BEth 2 (FTiR/NFHeH) 25,12 3[ 51300875 & ® (WEbeH-#%)25.45

47 6] 4090 £ 42 GBr 14 1) 25. 26 4 6]4483HH RE M & 2 5k H  1=)25.58

5[ 5]120540 tH ¥ A 2 GBr B — 1) 25.47 5[ 1] 6271 x K& 7L 2 CHrES-HE)26.19
[ 1140083 M K& 3 (B2 222 K %) Ri5 6[ 4155191 & KM 2 R & -5 %) 26. 96
[ 3131815 H KMt (A R b &) Ri5 70 2] 3057k M AKER 2 Cor B2 = 1)26.98

[ 4] 4055¢ i #hi2 (Bk X &) Rig 8[ 3112264k FE2 Cfr . H)27.06



[7#8) (  +0.7 m)
1[0 51318815 il B A

(AT R b =) 25. 32

20 6] 313 F L1 G FE = 1)26. 26

3L 71 TihA w2 GE

A H)26.60

40 3] 38Kz k =2 (§] B = 11)26.66

508] 4KR## fie=E2 (GE
6[ 4] 403N H
[ 113031 (L H &4
[ 213031 B &% Ay
[9#H] (  +1.1 m)
10 7] 37811 M

A 1) 26. 81
2 Cor & 4 ) 27.13
(B Rt - 5 1) Ri5
(B Tbetih - 3 £) Ri5

1 G & = H)27.53

20 4] 238JF b +hifE 1 CONFEERT-5E)27.77

3[ 5] 34315 #t

M1 Oy f-5E) 28. 11

4 8] 3060 A& F#h1 Cor & = )28. 41
503] 277= L &EES 1 GAEE — ) 28. 62
6[ 2] 223 KHE 2 Cor 8 — ) 28. 64

[ 1]14016/) gE

bEth 2 (B2 % B2 K) Ri5

[ 611233 #& AL 1 G 2 — ) Rij

4> O
s =3

1448978  # K2 Gk R 5)23.04
2 4787 B I R #h 2 (RiskERE- 290 23. 11
33193 & M frak (A R b 1) 23.25
4 191/ K2 (B [ R)23.38
55514 kxR M A 1 OREF i - 5 %) 23. 52
6 783MH £—1 (& M ®)23.55
T 1Lk ffs 2 QIETRE 5E)23. 65
8 7928 HEx2 (B M m)23.72

BZ 400m R 64
[148]

1[ 4126457 )1
2[ 11576145 K
3[ 3]31853k M {2 ##
A4 713183 3L HK Al
[ 21264211 1

+0. 4
+0. 4
+0.5
+0.5
+0.5

+
+

cee
o1 o1 on

+

#£ A2 Or 7 1 )50.9

FH 1 (BRITE RS ##H) 51. 1
(AT R b =)51.9
(AT R b &) 521
H2 (R 7 M) RS

[ 5127330 & &2 (0L K - & 50) Ri5

[ 6]47864 H k2 (B & KRS

[ 8]2436111 0 =& fiW 2 CHE 2 K- T3) Ri5H
[34#8]
1[ 7144857 - ik 2 (3¢ #H 5)5b4.3
20 2] 3594/ Sk Bi2 (B &2 = )b4.4
3[ 3128871 2 fEdk Oy b # £)56.0
A[ 4]2647%4 % vE w1 (B 7 78 &) 56. 4
50 1]38TTHH ML H 1 (5 LA HE)56.9
6[ 813879T ik I 1 (5 U A8 E)567.5
7[ 61265747 #L 4t 1 (K & W6 &)567.7
8[ 512649 Iy 2 (B 7 ¥ 5)59.9

[8%8] ( +1.0 m)

10 3] 3748  #E =1 (1 88 = *)26.27
2[ 8] 315& # JF 461 Ofly £-5E) 26. 51
3[ 7] 3681 A i A1 (Bl 5 = +)26.81
A 2] M9 HE—BRR 2 (B B H)27.02
5[ 5]12341F ] —ud 1 Cgr & — )27. 21
6[ 4] 376f 1 =21 (5] 2 = H1)27.26
70 6] 602#% T SC#k 1 CHEEN-H5E)27. 32
8[ 1] 3004 R =+E2 CGFr FE = 1)27.59

[1048] (  +0.9 m)
108] 107 % =} 1 (Frik/hFH)27.58
2[ 4] 236%% B K1 OAHERT-5%) 28.13
3[ 311228/~ #»  #E1 Cor EE — #1)29.35
A4[ 5] 2063 1 B A1 Cor B — H1)29.91
507] 25 2 GE K )30.85
6 6147065 3  H22 (KRAH-H7)31.84
70 2] 2040 M FnFH1 Cor B2 — 1) 33.26
[ 114017 & B2 EFFRE KT Ri5

(2%8]
10 174007/)v i 423 (B2 5 B2 K)51.2
2041 1MLk G2 (IBLAE 4%)53. 4

3[ 7126480 M F5 oK1 B F 7 7)53.8
A[ 2]13878H % k1 (5 U A B E)b4. 2
5[ 3]2641k M Fn#f2 Ok F 7 7)54.6
6 5]3888f A A A= 2 (5 U A BF &) 55.0
[ 6]32994: H f& %] (B £ FE W) Ri5
[ 8]2646/KIEEEZ A2 (R 7 10 &) Ri5

(4#8]
1[ 811306/~ FF 4n £ 4 (HEEKR-H#)53.5
2[ 6]43767% 30 &4 3 (HEEKR-HiA)56.0
3[ 2]1348 W &1 B B &)5T.2
47 4] 554 % M2 (IxfR% —1)59.0
5[ 6]44T2BKHFE KRB 2 (5 I 17)62.6
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